CVAIBREL T (x) =x? +2ax+2, x € [-5, 5], Ry=f (x) BI&H/ME

iﬁ%%“%ﬂ:

FEREE (x)=(a+1) x2+1/bx, HE(1)=3, £(2)=9/2. Hkif (x) #E[1, EEX5F]E
PR, FEInPAIE R

BEE:
F (x) =x2+2ax+2=(x+a)? +2-a2
X FR & x=—a
FEOR) b R RR A A s gak, Ak 1
F (x) =x2+2ax+2=(x+a)? +2-a*
X FR & x=—a
FHEmE e FEXTRRE AR, A g 1
f(-5)=27-10a £(5)=27+10a f(a)=2-a>
53 VUM Ol e
1. —a<-5 Bfa>5
Hi/MAET (-5), B RET (5)

2. —5<=—a<0ff B 0<a<=h

HH/MET (@), HORMEST (-5)
3. 0<=—a<hi} B -5<a<=0

Hi/Miaf (a), B KMEL (5)
4, —a>=bif, Bl a<=-5

Hi/METF (5), HRIEST (-5)



